
 
 

 
Neurons: Agree or Disagree? 

 

Objective: Review the parts of neurons. 
 
How to play: Students use the PearDeck application to move their dot to 
display whether they agree or disagree with the statement read aloud. 
 
Statements: 
 
The three main parts of a neuron are the cell body, dendrites, and myelin 
sheath (disagree; should be axon instead of myelin sheath) 
 
The place where the axon terminal of one neuron meets an axon of another 
neuron is called the synapse (disagree; should be meets a dendrite of 
another neuron) 
 
The nucleus is inside of the cell body (agree) 
 
Myelin sheath cells slow down the electrical signals sent through neurons 
(disagree; should be that they increase the speed of the electrical signals) 
 
 
 
 


